NUCOR TABLE OF CONTENTS

BUILDINGS GROUP

SW EW BYPASS GIRT DETAILS
CCO0006 - LAPPED GIRT DETAIL
CCO0011 - SINGLE CEE COLUMN AT BYPASS GIRTS
CCO0012 - SINGLE CEE COLUMN AT BYPASS GIRTS
CC0072 - HR CEE GIRTS WITH CLIP ABOVE
CCO0074 - GIRT TO JOIST CONNECTION
CCO0075 - GIRT TO PURLIN CONN DETAIL
CCO0076 - GIRT TO MASONRY WALL DETAIL
CCO0080 - MASONRY AT LEFT OF COLUMN (ZEE OR CEE GIRT)
CCO0090 - MASONRY AT RIGHT OF COLUMN (ZEE OR CEE GIRT)
CCO0100 - MASONRY AT LEFT OF COLUMN (CEE GIRT)
CC0110 - MASONRY AT RIGHT OF COLUMN (CEE GIRT)
CC0120 - MASONRY AT LEFT OF COLUMN (HOT-ROLLED GIRT)
CCO0130 - MASONRY AT RIGHT OF COLUMN (HOT-ROLLED GIRT)
CC0240 - SW OR EW GIRT DETAIL
CC0250 - GIRT DETAIL AT INTERIOR COLUMN DETAIL
CC1010 - SW OR EW GIRT DETAIL
CC1020 - SW OR EW GIRT DETAIL
CC1030 - SW OR EW GIRT DETAIL
CC1040 - HR CEE WITH WELDED CLIP ABOVE




NUUCOR SW EW BYPASS GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CCO0006 - LAPPED GIRT DETAIL

STD. 1/2" A307 BOLTS y

MK. H0500

(NO WASHERS REQUIRED)

OUTSIDE FLANGE

GIRT LAP BOLTS NOT
SHOWN FOR CLARITY.
REFERENCE THE STD.
LAPPED GIRT DETAIL FOR
THOSE REQUIREMENTS.

SECOND LAPPED GIRT

BOLTED OR

BUTTON HEAD 1/2" BOLT WELDED GIRT CLIP

MK. H0510 **
(NO WASHER REQUIRED)
FIRST LAPPED GIRT
STD. 1/2" A307 NUTS
MK. H0400
LAPPED GIRT DETAIL

LAPPED GIRTS @ INTERIOR BAY COLUMNS
* THE BUTTON HEAD 1/2" A307 BOLT MUST BE INSTALLED INTO THE FIRST GIRT
AND CLIP OF A LAPPED CONDITION. THE BOLT/NUT ASSEMBLY MUST BE WRENCH ( CC0006 )
TIGHT PRIOR TO THE SECOND LAPPED GIRT BEING INSTALLED.

Detailer Notes:
1) N/A

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cc0006.dwg

NUCORN

BUILDINGS GROUP

SW EW BYPASS GIRT DETAILS

WALL SECONDARY

CCO0011 - SINGLE CEE COLUMN AT BYPASS GIRTS

Detailer Notes:
1) N/A

8" OR 12" DEEP
SINGLE CEE COLUMN

USE (1) 1/2" X 1 1/4" THIN HEAD
BOLT H0510/ NUT H0400 AT THIS

LOCATION REFER TO THE
"LAPPED GIRT DETAIL" FOR
ADDITIONAL INFORMATION.

S —

3/4"

CLIP MK. GCBO3.
LOCATE (1) ATALL
GIRT LOCATIONS.

(4) 12" x 2" A325
BOLTS H0603/ NUTS
HO0300

3/4"

GIRT
| b
o Y . o
\ 4 \ "4 | w \ ¥4
! =
1 2 w
| 5 =
o 60 a8 o =
A" 4 A" 4 ; A" 4 \*” 4 A w
o =
| w w
. ¢
1
CLIP VK. GIRT LAP | GRTLAP DIMENSION "A"
GCW08 AT 8" GIRTS (SEE ELEVATION) T (SEE ELEVATION) 4" AT 8" GIRTS
GCWO09 AT 9.5" GIRTS ! CENTERLINE OF COLUMN 4" AT 9.5" GIRTS
GCB11 AT 12" GIRTS 8" AT 12" GIRTS
ISOMETRIC VIEWS
|~
STEEL LINE N | -|
! —CLIP MK.
ZEE GIRT E GCBO3
1
!
INGLE CEE
CLIP MK.
COLUMN
GCWO08 AT 8" GIRTS !
GCWO09 AT 9.5" GIRTS
GCB11 AT 12" GIRTS i
1

SINGLE CEE COLUMN AT BYPASS GIRTS

SINGLE CEE COLUMN WITH LAPPED BYPASS GIRTS
NOTE: USE (7) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400

WASHERS ARE NOT

REQUIRED AT LAPPED ZEE CONNECTION

REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

CCC0011)

Revised : 11.22.22
RevisedBy : BSS

(MR2022.12)

CERTIFIED ERECTION DETAILS

Detail Size (W xH): 2x1


dtls/cc0011.dwg

NUCORN

BUILDINGS GROUP

SW EW BYPASS GIRT DETAILS

WALL SECONDARY

CCO0012 - SINGLE CEE COLUMN AT BYPASS GIRTS

Detailer Notes:
1) N/A

_wF========q

CLIP MK. GCBO3.
LOCATE (1) AT ALL

8" OR 12" DEEP < GIRT LOCATIONS.
SINGLE CEE COLUMN
(4) 172" x 2" A325
BOLTS H0603/ NUTS
CLIP MK, > HO300
GCWO8 AT 8" GIRTS i
GCWO9 AT 9.5 GIRTS =
GCB11AT 12" GIRTS
S G GIRT
GIRT, IF S
REQUIRED - = L .
( g
]
P Y VY
\“-Zam 2
=
=
=
A& 1 =
N/ \ < YE
I =
w 17
R P
34" 34"
v | L qiom DIMENSION "A"
1172 1172
- 4" AT 8' GIRTS
CENTERLINE OF COLUMN | 4 AT95" GIRTS
! 8" AT 12" GIRTS
ISOMETRIC VIEWS

STEELLINE

ZEE GIRT

/

CLIP MK.
GCWO08 AT 8" GIRTS

GCWO09 AT 9.5" GIRTS
GCB11 AT 12" GIRTS

SINGLE CEE
COLUMN

SINGLE CEE COLUMN AT BYPASS GIRTS
SINGLE CEE COLUMN WITH SMPLE-SPAN BYPASS GIRTS
NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS HOS0NUTS H0400
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

CC0012

Issued : 03.30.22
Issued By: WME

(MR2022.01)

CERTIFIED ERECTION DETAILS

Detail Size (W xH): 2x1


dtls/cc0012.dwg

NUUCOR SW EW BYPASS GIRT DETAILS

BUILDINGS GROUP

WALL SECONDARY

CC0072 - HR CEE GIRTS WITH CLIP ABOVE

" " GIRT CLIP MK. GCM_
COLUMN * 8 12 (SEE CHART FOR
FLANGE WIDTH GIRTCLIP | GIRTCLIP ARK NUMBER)
FLANGE = 4" 11/8" GCM11 GCM13 HOT ROLLED GIRT
WITH SHOP
FLANGE > 4" 11/2" GCMO1 GCM06 WELDED PLATES
_______ *ix 7
, ATTACHMENT TO WALL AT /* A
I 40" 0.C. MAXIMUM ——
BU OR HR COLUM I (ANCHORS NOT BY NBS)
I (FIELD DRILL GIRT AS REQD" i
|
|
R — M S—— SECTION A
e — EE. (S
s g nl ~—_
2 I I I
= ¢ ——— —-@4'“@ USE (2) 1/2" x 2" A325 BOLTS H0603/ NUTS
A6 = % SHOP i g | ! i g HO300 (CLIP TO FLANGE CONNECTION)
Z|W WELDED A
<o = .
Uz & PLATE _<//k}/ i
= I
— o - A IR
oo o @W @ ™S — HOT-ROLLED
53 T GIRT (TYPICAL)
R i
34y o K [ 314"
n i I i "
1 1/2 ! | ‘1 1/2 DIM, IIA“ =4ll AT 8" GlRTS
nman —QqQn "
G COLUMN | A = 8" AT 12" GIRTS

NON SELF-SUPPORTING MASONRY

PARTIAL HEIGHT MASONRY (HOT-ROLLED GIRT ON TOP OF WALL)
USE (4) 1/2'x2" A325 BOLTS (H0603) & NUTS (H0300)
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes: 4y 5y HOLE CLIP WELDED TO HR GIRT :
8" - HCS08
12" - HCS12

(_CC0072 )

Issued : 10.27.20 (MR2020.011) CERTIFIED ERECTION DETAILS
Issued By: WME

Detail Size (W xH): 1x1


dtls/cc0072.dwg

NUCOR SW EW BYPASS GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CCO0074 - GIRT TO JOIST CONNECTION

STEEL LINE _ ,1/4"

RAKE EXTENSIONSX TJOlST SEAT

8"CHANNELMK. AN /= . ]
(SEE ENDWALL ELEVATIONS) J
JOIST SEAT (4) SCREWS
CLIP JCP02 MK. H1070 @ JOIST
SECTION "A"
(4) SCREWS 12" GIRTS

MK. H1070 @ JOIST

/7ENDWALL GIRT

rrrrrr

8" 89 1/2" GIRTS
" ||B||
oo
CLIP MK. GCR7_
?
s | 111 SECTION "B

BY-PASS GIRT AT ENDWALL JOIST

USE (4) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400 ( CCOO 7 4 )

REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS
Detailer Notes:

1) N/A
Revised : 07.03.24 (MR2024.07) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Revised By : WME


dtls/cc0074.dwg

NUCOR SW EW BYPASS GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CCO0075 - GIRT TO PURLIN CONN DETAIL

RAKE EXTENSIONS&LL%I 2 4 ¥ 4

8" CHANNEL MK. B -
(SEE ENDWALL ELEVATIONS) J
SECTION "A"
12" GIRTS

rrrrrr

\\\\\\

8" & 9 1/2" GIRTS
<
‘ ‘ N
‘
"A“ ' llBll
oo
CLIP MK. GCR7_ $
" 1 SECTION "B"
BYPASS GIRT AT ENDWALL PURLIN
USE (8) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400 ( C CO O 7 5 >
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS
Detailer Notes:
1) N/A
Revised : 07.03.24 (MR2024.07) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1

Revised By : WME


dtls/cc0075.dwg

NUUCOR SW EW BYPASS GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CCO0076 - GIRT TO MASONRY WALL DETAIL

DIM."A"=4"AT 8" & 9 1/2" GIRTS
=8"AT 12" GIRTS MASONRY FASTENERS

BY OTHERS

CLIP MK. HCJO1
AT 8" &9 1/2" GIRTS,

CLIP MK. HCJ02 MASONRY WALL
AT 12" GIRTS / BY OTHERS
@
o N\ ____
w | |
+ -0
| | T
= L]
= LA
*-%-*@'
S N
STEEL LINE L“

112"

GIRT TO MASONRY WALL DETAIL

NOTE: USE (2) 1/2 @ x 1 1/4" A307 BOLTS HO500/NUTS H0400 ( CCOO76 )

Detailer Notes:
1) N/A

Revised : 08.10.21 (MR2021.09) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
RevisedBy : BSS


dtls/cc0076.dwg

NUCOR SW EW BYPASS GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CCO0080 - MASONRY AT LEFT OF COLUMN (ZEE OR CEE GIRT)

COLUMN I
FLANGEWDTH | A GIRT
FLANGE=4" | 11/8" | 38" (ZEE OR CEE)
FLANGE>4" | 112" | 34" CLIP MK,
GCMO7 AT 8' GIRTS
¢ COLUMN GCM20 AT 9 1/2" GIRTS R
| GCM22 AT 12" GIRTS
SECT. "A"
USE (2) 1/2" x 2" A325 BOLTS H0603/ NUTS T ———
H0300 (CLIP TO FLANGE CONNECTION) — o e OIRTS
GIRT
(ZEE OR CEE)
._
( o
Ll
._
<
=
(]
‘_
( .
L
/ - o
"A" I
CLIP MK,
MASONRY WALL - GCMO7 AT 8' GIRTS
(BY OTHERS) | GCM20 AT 9 1/2" GIRTS

GCM22 AT 12" GIRTS

SW OR EW GIRT TERMINATION DETAIL

BYPASS GIRT TERMINATION AT MASONRY WALL LEFT

NOTE: USE (2) 1/2"x1 1/4" A307 BOLTS HO500/NUTS H0400 ( CCOOBO )

REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

1) IF COLUMN FLANGE IS 4", THE GCM__ CLIP WILL CROSS THE CENTERLINE OF THE COLUMN, SPECIAL CLIP
MAY BE REQUIRED.

Issued : 02.26.24 (MR2024.03) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Issued By: KMC


dtls/cc0080.dwg

NUCOR SW EW BYPASS GIRT DETAILS

BUILDINGS GROUP

WALL SECONDARY
CC0090 - MASONRY AT RIGHT OF COLUMN (ZEE OR CEE GIRT)
Tlz. - COLUMN
| FLANGE WIDTH * A
H/_ GIRT
J (ZEE OR CEE) FLANGE=4" | 11/8" 318"
CLIP MK, FLANGE > 4" 11/2" 3/4"
GCMO8 AT 8" GIRTS
. GCM21 AT 9 1/2" GIRTS ¢ COLUMN
SECT nAu GCM23 AT 12" GIRTS |
DIM. "A" = 4" AT 8" & 9 1/2" GIRTS
= 8" AT 12" GIRTS — USE (2) 1/2" x 2" A325 BOLTS H0603/ NUTS
ST H0300 (CLIP TO FLANGE CONNECTION)
(ZEE OR CEE)_\
_.
i
LLl
@
=
=
(]
_‘
1
LLl
§ ¢

o
CLIP MK. - uAu
GCMO08 AT 8" GIRTS MASONRY WALL

GCM21 AT 9 1/2" GIRTS | (BY OTHERS)
GCM23 AT 12" GIRTS

SW OR EW GIRT TERMINATION DETAIL

BYPASS GIRT TERMINATION AT MASONRY WALL RIGHT

NOTE: USE (2) 1/2"x 1 1/4" A307 BOLTS H0500/NUTS H0400 ( CC0090 )

REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

1) IF COLUMN FLANGE IS 4", THE GCM__ CLIP WILL CROSS THE CENTERLINE OF THE COLUMN, SPECIAL CLIP
MAY BE REQUIRED.

Issued : 02.26.24 (MR2024.03) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Issued By: KMC


dtls/cc0090.dwg

NUCOR SW EW BYPASS GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CC0100 - MASONRY AT LEFT OF COLUMN (CEE GIRT)

COLUMN CLIP MK.
FLANGE WIDTH * A GCMO08 AT 8" GIRTS

GCM21 AT 9 1/2" GIRTS
FLANGE = 4" 11/8" 3/8" GCM23 AT 12" GIRTS
FLANGE > 4" 112" 3/4" ¢ COLUMN PLATE MK. JCP
| _
! CEE GRT— | il
" n
DIM. "A" = 4" AT 8" & 9 1/2" GIRTS * SECT. "A
= 8" AT 12" GIRTS | A
PLATE MK. ” USE (2) 1/2" x 2" A325 BOLTS H0603/ NUTS
JCP02 AT 8" GIRTS H0300 (CLIP TO FLANGE CONNECTION)
JCP09 AT 9 1/2" GIRTS
JCPO3 AT 12" GIRTS A CEE GIRT
‘»ﬂﬁ' / [ A\
. g
| \
T T
|
i | <
o =
g g
I
@V_ ol
I I
/ | =N \_ Y
A CLIP MK.
(BY OTHERS) | GCM21 AT 9 1/2" GIRTS

GCM23 AT 12" GIRTS

SW OR EW GIRT TERMINATION DETAIL

BYPASS CEE GIRT TERMINATION AT MASONRY WALL LEFT

NOTE: USE (2) 1/2"x 1 1/4" A307 BOLTS H0500/ NUTS H0400 ( CCO 1 OO )

REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

1) IF COLUMN FLANGE IS 4", THE GCM___ CLIP WILL CROSS THE CENTERLINE OF THE COLUMN, SPECIAL
CLIP MAY BE REQUIRED.

Issued : 02.26.24 (MR2024.03) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Issued By: KMC


dtls/cc0100.dwg

NUCOR SW EW BYPASS GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CC0110 - MASONRY AT RIGHT OF COLUMN (CEE GIRT)

CLIP MK. COLUMN
GCMO7 AT 8" GIRTS FLANGE WIDTH * A
GCM20 AT 9 1/2" GIRTS
GCM22 AT 12" GIRTS FLANGE = 4" 11/8" 3/8"

PLATE MK. JCP__ FLANGE > 4' 112" 3/4"
G COLUMN
| CEE GIRT |
SECT. "A" *
p  [DIM."A"=4"AT 8" &9 1/2" GIRTS
USE (2) 1/2" x 2" A325 BOLTS H0603/ NUTS A ’ =8 AT 12" GIRTS
H0300 (CLIP TO FLANGE CONNECTION) " PLATE MK
JCP02 AT 8" GIRTS
JCP09 AT 9 1/2" GIRTS
CEE GIRT E JCPO3 AT 12" GIRTS
- A
. ( T
S o
1 (&
| 1
B
= | 1
[am) ! } }
7 —"@*
< .
_,____\ FF |
CLIP MK. —— "A" \
GCMO7 AT 8" GIRTS ! MASONRY WALL
GCM20 AT 9 1/2" GIRTS | (BY OTHERS)

GCM22 AT 12" GIRTS

SW OR EW GIRT TERMINATION DETAIL

BYPASS CEE GIRT TERMINATION AT MASONRY WALL RIGHT

NOTE: USE (2) 1/2"x 1 1/4" A307 BOLTS H0500/NUTS H0400 ( CCO 1 1 O )

REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

1) IF COLUMN FLANGE IS 4", THE GCM___ CLIP WILL CROSS THE CENTERLINE OF THE COLUMN, SPECIAL
CLIP MAY BE REQUIRED.

Issued : 02.26.24 (MR2024.03) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Issued By: KMC


dtls/cc0110.dwg

NUCOR SW EW BYPASS GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CC0120 - MASONRY AT LEFT OF COLUMN (HOT-ROLLED GIRT)

COLUMN CLIP MK.
FLANGE WIDTH * A GCMO08 AT 8" GIRTS

GCM21 AT 9 1/2" GIRTS
FLANGE =4" 11/8" 3/8" GCM23 AT 12" GIRTS
FLANGE > 4" 112" 3/4" ¢ COLUMN
| HOT-ROLLED
i GIRT WITH SHOP
| WELDED PLATE
[ % SECT. "A"

DIM. "A" = 4" AT 8" & 9 1/2" GIRTS A
=8"AT 12' GIRTS 314" USE (2) 1/2" x 2" A325 BOLTS H0603/ NUTS
H0300 (CLIP TO FLANGE CONNECTION)
SHOP WELDED PLATE
s HOT-ROLLED GIRT

] fg_ 7 \di

=il o
i ( L
‘ F—
©f +
1 =
I =
: 5
|
- T
L dN S
] \_ o %

|

A" g CLIP MK.
(BY OTHERS) | GCM21 AT 9 1/2" GIRTS

GCM23 AT 12" GIRTS

SW OR EW GIRT TERMINATION DETAIL

BYPASS CEE GIRT TERMINATION AT MASONRY WALL LEFT

NOTE: USE (2) 1/2"x 2" A325 BOLTS H0603/NUTS H0300 ( CCO 1 20 )

REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

1) IF COLUMN FLANGE IS 4", THE GCM___ CLIP WILL CROSS THE CENTERLINE OF THE COLUMN, SPECIAL
CLIP MAY BE REQUIRED.

Issued : 02.26.24 (MR2024.03) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Issued By: KMC


dtls/cc0120.dwg

NUCOR SW EW BYPASS GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CC0130 - MASONRY AT RIGHT OF COLUMN (HOT-ROLLED GIRT)

CLIP MK. COLUMN
GCMO7 AT 8" GIRTS FLANGE WIDTH * A
GCM20 AT 9 1/2" GIRTS
GCM22 AT 12" GIRTS FLANGE = 4" 11/8" 3/8"

FLANGE > 4" 11/2" 3/4"

HOT ROLLED
GIRT WITH SHOP
WELDED PLATE ¢ COLUMN

 SECT."A" |

DIM. "A" = 4" AT 8" & 9 1/2" GIRTS
USE (2) 1/2" x 2" A325 BOLTS H0603/ NUTS A ! = 8" AT 12" GIRTS

HO300 (CLIP TO FLANGE CONNECTION)

3/4" SHOP WELDED PLATE

HOT-ROLLED GIRT—\

S
|

+EQ. " DIM. "A" . EQ.‘

|
CLIP MK. —— "A"
GCMO7 AT 8" GIRTS MASONRY WALL

GCM20 AT 9 1/2" GIRTS (BY OTHERS)
GCM22 AT 12" GIRTS

SW OR EW GIRT TERMINATION DETAIL

BYPASS CEE GIRT TERMINATION AT MASONRY WALL RIGHT

NOTE: USE (2) 1/2"x 2" A325 BOLTS HO603/NUTS H0300 ( CCO 1 30 )

REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

1) IF COLUMN FLANGE IS 4", THE GCM___ CLIP WILL CROSS THE CENTERLINE OF THE COLUMN, SPECIAL
CLIP MAY BE REQUIRED.

Issued : 02.26.24 (MR2024.03) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: KMC


dtls/cc0130.dwg

NUUCOR SW EW BYPASS GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CC0240 - SW OR EW GIRT DETAIL

— USE (2) 1/2" x 2" A325 BOLTS H0603/
NUTS H0300 (CLIP TO WEB CONNECTION)

ERECTORNOTE: — bFrS———f - ——— ——— — " _._Q_
AT EACH LAPPED GIRT CONNECTION, (1) 1/2" X 1 1/4" |
BUTTON HEAD BOLT HO510/NUT H0400 MUST BE USED | / INTERIOR COLUMN
TO ATTACH THE FIRST GIRT TO THE GIRT CLIP OF A ,
LAPPED CONDITION. THE BOLT/NUT ASSEMBLY MUST | CLIP GCC03
BE WRENCH TIGHT PRIOR TO THE SECOND LAPPED ! i
GIRT BEING INSTALLED. REFERENCE THE STANDARD | S
"LAPPED GIRT DETAIL" FOR MORE INFORMATION. —\ | / GIRT =
| ! ’
| | 2
|
| @ —\N——— * @
| 1
I o '
| |
s 1 e
| o
| 1 I-IJ 1
S R N 1l s
|
i USE THESE CLIP HOLES }
3/4"! AT 91/2" GIRTS. 13/4"
¢ * ! USE HOLES SHOWN AT ? ®
| 8"12" GIRTS.
GIRT LAP ! GIRT LAP
¢ SEE ELEVATION ¢ SEE ELEVATION ¢
¢
LAPPED BYPASS GIRTS AT INTERIOR BAY COLUMNS
NOTE: USE (7) 1/2"x 1 1/4" A307 BOLTS H0500/NUTS H0400
WASHERS ARE NOT REQUIRED AT LAPPED ZEE CONNECTION ( CCO 2 40 )
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS
Detailer Notes:
1) N/A
Revised : 11.22.22 (MR2022.12) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1 x 1

RevisedBy : BSS


dtls/cc0240.dwg

NUUCOR SW EW BYPASS GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CC0250 - GIRT DETAIL AT INTERIOR COLUMN DETAIL

USE (2) 1/2" x 2" A325 BOLTS H0603/ NUTS H0300

(CLIP TO WEB CONNECTION) ¢ OF COLUMN

312"

|_— INTERIOR COLUMN

*¢
gILFLF; MK GCCOB\ GRT
_\ / IF REQUIRED
>—o— |-t
. (@}
g L _
i 5
—-— -
.
..
-
g
g
"o * e —0—§
o o 34" L[] ;34
o| o 34" {44, 34"
S| N R L1172
S SR
= = |
<C <C

GIRT DETAIL AT INTERIOR COLUMN

SIMPLE-SPAN GIRTS AT BUILT UP INTERIOR COLUMN
NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS H0500/NUTS H0400 ( CCO 2 50 )
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) N/A

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cc0250.dwg

NUUCOR SW EW BYPASS GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CC1010 - SW OR EW GIRT DETAIL

G COLUMN N

| \ZEE GIRT
|
i

USE (1) 1/2" X 1 1/4" BUTTON HEAD L
BOLT H0510/ NUT H0400 AT THIS SHOP
LOCATION. REFER TO THE WELDED -
"LAPPED GIRT DETAIL" FOR CLIP
ADDITIONAL INFORMATION. 112"
. SECT."A"
3/4" " 3/4
}T /GIRT T[
L T ) N I 1 } @
| NEIEE | .
@ | @ | @ | @ o
ks B\ /20 — -H—- t— - r——"—— "~ —@
. B I .
| N I |
| N I |
| |
— OO O —— +
1 I — T — <|>———'r——: ! O
H L
| A HE . &
|
IRT LAP \ ! IRT LAP
[ © ¢ G

®

(SEE ELEVATION)  \ (SEE ELEVATION)

SHOP WELDED CLIP DIM."A" =4"AT 8" &9 1/2" GIRTS
= 8" AT 12" GIRTS

SW OR EW GIRT DETAIL

LAPPED BYPASS GIRTS AT INTERIOR BAY COLUMNS
NOTE: USE (7) 1/2"x 1 1/4" A307 BOLTS HO500/NUTS H0400

WASHERS ARE NOT REQUIRED AT LAPPED ZEE CONNECTION ( CC 1 0 1 O )
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) SHOP WELDED BYPASS GIRT CLIP TO COLUMN: 8" GIRT = PCUO01, 9 1/2" GIRT = GCB62, 12" GIRT = GCB12

Issued : 05.31.24 (MR2024.06) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Issued By: BSS


dtls/cc1010.dwg

NUWUCORN

BUILDINGS GROUP

SW EW BYPASS GIRT DETAILS

WALL SECONDARY

CC1020 - SW OR EW GIRT DETAIL

DIM."A" =4"AT 8" &9 1/2" GIRTS
=8"AT 12" GIRTS

RIGHT HAND DETAIL SHOWN,
LEFT HAND OPPOSITE

G COLUMN
|

q1 12"

3/4"
GIRT, IF

REQUIRED
_______________ 1 R AP I

SW OR EW GIRT DETAIL

L——

e

-
®
o |

—_,———— - _—

SIMPLE-SPAN BYPASS GIRTS AT INTERIOR BAY COLUMNS
NOTE: USE (4) 1/2"x 1 1/4" A307 BOLTS H0500/NUTS H0400
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

(CCC1020)

1) SHOP WELDED BYPASS GIRT CLIP TO COLUMN: 8" GIRT = PCUO01, 9 1/2" GIRT = GCB62, 12" GIRT = GCB12

Issued : 08.16.19
Issued By: CAH

(2018.017)

CERTIFIED ERECTION DETAILS

Detail Size (W xH): 1x1


dtls/cc1020.dwg

NUCOR SW EW BYPASS GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CC1030 - SW OR EW GIRT DETAIL

DIM."A" = 4" AT 8" &9 1/2" GIRTS SHOP WELDED CLIP o
= §" AT 12" GIRTS ¢ COLUMN
|
| - -
ATTACHMENT TO WALL AT ———t
40" 0.C. MAXIMUM ——— %/ / is
1112 (ANCHORS NOT BY MBS)
RIGHT HAND DETAIL SHOWN. &—4& (FIELD DRILL GIRT AS REQD"
LEFT HAND OPPOSITE

JCP02 AT 8" GIRTS

3/4" - 314" JCP09 AT 9 1/2" GIRTS
JCPO3 AT 12" GIRTS
GIRT, IF REQUIRED SECT. "A"
\ | / GIRT

r i gt i s W 4
r s [
I iy o
11 11
\ T T
11 11 i
i i i : i i | [l.—— SHOP WELDED CLIP >
I o .
| | o =
P e o
[
o
- B — 1 o—
T )
—————————————————— —F—1 | e | o
| 1 11 L
[ sk L [ S—— - \ —— 3
|
llAll <_
BYPASS CEE GIRT AT MASONRY WALL
NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS H0500/NUTS H0400 ( CC 1 030 )
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) SHOP WELDED BYPASS GIRT CLIP TO COLUMN: 8" GIRT = GCMO04, 9 1/2" GIRT = GCM95, 12" GIRT = GCB12

Revised : 08.06.24 (MR2024.08) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Revised By : WME


dtls/cc1030.dwg

NUCOR SW EW BYPASS GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CC1040 - HR CEE WITH WELDED CLIP ABOVE

SHOP WELDED CLIP T
DIM. "A" = 4" AT 8" GIRTS ATTACHMENT TO WALL AT
=8"AT 12" GIRTS 40" 0.C. MAXIMUM
(ANCHORS NOT BY MBS)
RIGHT HAND DETAIL (FIELD DRILL GIRT AS REQ'D"
SHOWN, LEFT G COLUMN HR GIRT/ - ~ L
HAND OPPOSITE |
| SECT. "A"
| ——————
11/2"
3/4" 3/4"
HOT-ROLLED GIRT " HOT-ROLLED GIRT
IF REQUIRED [
ézzzzzgtjj [ C | ; -
oo c
1 k -
T T \d
SHOP 11
ol SHOP -
WELDED /M!*”: } | b WweLoeD =
PLATE —<\ || PLATE =
|
B
—_———— ‘_ ‘ [ I —
OO !
| [ @]
— T v
P | = \ e %
|

BYPASS HOT-ROLLED AT MASONRY WALL

NOTE: USE (4) 1/2'x2" A325 BOLTS (H0603) & NUTS (H0300) ( CC1040 )

REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes: 4y (4) HOLE WELDED CLIP TO COLUMN : 3) ADD STIFFENER PER DESIGN TO
8" - GCM04 (4) HOLE WELDED CLIP TO COLUMN:
12" - GCB12 8" GIRT: WS_04
2) (2) HOLE CLIP WELDED TO HR GIRT : 12" GIRT: WS_12
8" - HCS08
12" - HCS12
Revised : 08.06.24 (MR2024.08) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1 x 1

Revised By : WME


dtls/cc1040.dwg

	TABLE OF CONTENTS
	SW EW BYPASS GIRT DETAILS
	CC0006 - LAPPED GIRT DETAIL
	CC0011 - SINGLE CEE COLUMN AT BYPASS GIRTS
	CC0012 - SINGLE CEE COLUMN AT BYPASS GIRTS
	CC0072 - HR CEE GIRTS WITH CLIP ABOVE
	CC0074 - GIRT TO JOIST CONNECTION
	CC0075 - GIRT TO PURLIN CONN DETAIL
	CC0076 - GIRT TO MASONRY WALL DETAIL
	CC0080 - MASONRY AT LEFT OF COLUMN (ZEE GIRT)
	CC0090 - MASONRY AT RIGHT OF COLUMN (ZEE GIRT)
	CC0100 - MASONRY AT LEFT OF COLUMN (CEE GIRT)
	CC0110 - MASONRY AT RIGHT OF COLUMN (CEE GIRT)
	CC0120 - MASONRY AT LEFT OF COLUMN (HOT-ROLLED GIRT)
	CC0130 - MASONRY AT RIGHT OF COLUMN (HOT-ROLLED GIRT)
	CC0240 - SW OR EW GIRT DETAIL
	CC0250 - GIRT DETAIL AT INTERIOR COLUMN DETAIL
	CC1010 - SW OR EW GIRT DETAIL
	CC1020 - SW OR EW GIRT DETAIL
	CC1030 - SW OR EW GIRT DETAIL
	CC1040 - HR CEE WITH WELDED CLIP ABOVE


